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1) (x4+2)(x—4)=22+{2+(—4)}x+2-(—4)
=x2-2x—8

2) (x4172=x2242-2-14+12=x24+2x+1

(3) (x+3)(x—3)=22—-32=x2-9

O E#ofE

1) ab—3ac=a(b—3c)

2) 22+4x+3=x2+(1+3)x+1-3=(x+1)x+3)
3) x2—4=x2—22=(x+2)x—2)

O REZETROHE
1) /3 x5 =/3%5 =415
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B3) V2 +/8=42+2/2=3/2
O 1xkA=E=R

(1) BEITDL 3x=8+14
TROH 3x=12
Mil% 3 TEl->T x=4
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ERAYA)5) —x=9
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(3) fREK —1, ¥4
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B’E2

1) =¥ 2a, REL3
2) fRE3bcd, REL2
3) FREL —6a, JEX3

(1) 4x243x—1—2x2—4x+6
=4 —-2)x*+3—4)x+(—1+6)
=2x%—x+5

(2) 3a’—2ab—4b%>—5a%+2ab—8b*
=(3—5)a’+(—2+2)ab+(—4—8)b?
=—2a?—12b2

By 4
1) 3xkA 2 4%KRA
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1) 3XK, EHIE by +c
2) 2R, EHEax’+c

wE6
1) (a+2)x+(4a®—3a)
2) x24+By—1)x+(2y>—3y—2)

®mE 7
1) A+B=(2x*+3x—1)+(4x*—5x—06)
=2+4+4)x*+(3=5x+(—1—6)
=6x2—2x—7
A—B=(2x2+3x—1)—(4x2—5x—6)
=2x%4+3x—1—4x24+5x+6
=2—4x2+B3+5x+(—1+6)
=—2x24+8x45
(2) A+B=(4x°—3x2—2x45)+(223—3x%+7)
=(44+2)x°+(=3-3)x2—2x+(5+7)
=6x°—6x2—2x+12
A—B=(4x3—3x%—2x+5)—(2x2%—3x247)
=4x°—3x2—2x+5—-2x°+3x2 -7
=(4—-2)x°+(=3+3)x%2—22+(5-7)
=2x3—2x—2
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(1) A+2B=(x*+4x—3)+2(2x%>—x+4)
=x24+4x—3+4x%—2x+8
=14+4)2°+(4—-2)x+(=3+8)
=5x242x+5

2) 2A—3B=2(x24+4x—3)—3(242—x+4)
=2x%4+8x—6—6x%+3x—12
=(2—6)x2+(8+3)x+(—6—12)
=—4x24+11x—18
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1) 2a°%x4a’=(2x4)X a’*?=8a®

2) a’*x(—3a)=—-3%xa**'=—-3a°

3) 4ab’xb'=4xXaxb**'=4ab®
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(1) 4x%2x%2—3x+5)
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=8x*—12x%+4 20x2

2) (Ba’—a—2)x(—2a)
=3a’X(—2a)+(—a)X(—2a)+(—2)X(—2a)
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1) 2x—1)(4x%+3)=(2x—1)-4x*+(2x—1)-3
=8x°—4x24+6x—3
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=x24+5x—24
7 (x=2)(x—4)=x2+(—2—4)x+(—2)-(—4)
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(1) 3ab—2ac=a(3b—2c)
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(1) x24+10x+25=424+2-5-5+4+52=(x+5)?

(2) x2—12x4+36=242—2-x-6+62=(x—6)°
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(B) x24+2x—8=x2+(—24+4)x+(
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4) x®—5x—6=x2+(1—6)x+1-(—6)=(x+1(x—6)

(5) a?—13a+36=a’+(—4—9Na+(—4)-(—9)
=(a—4)a—-9)

6) y*—y—20=y*+(4—5)y+4-(—5)=(y+4)(y—5)
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(1) 3x247x+2=(x+2(3x+1)
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2 —16=A2—42=(A+ 4 (A—4)
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(x— 1)(x+y 3)

2) alZ2P\WTEHETBHL

224+ 3ax—9a—9=3(x—3)a+(x?—9)
Jx—3a+(x+3)(x—3
(x—3)3a+(x+3)}
(x—=3)(x+3a+3)
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1) x*42xy+y>—5x—5y+6
=x2+(2y—5)x+(y*—5y+6)
=x"+(2y—5x+(y—2)(y—3)
={x+(y—2)H{x+(y—3)}
=(x+y—2)(x+y—3)

2) x*—3xy+2y%+x+y—6
=x2+(=3y+1)x+(2y*+ y—6)
=x"+(=3y+1)x+(y+2)2y—3)
={x—(y+2)}{x—(2y—3)}
=(x—y—2)(x—2y+3)

1 y—2—>y=-2 —(y+2) — —y-—2
12X 3 y—3

(2y—3) —> —2y+3
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2y—5 —-3y+1

3) 3x +4xy+y*+Tx+y—6
=3x2+(4y+Tx+(y2+ y—6)
=32+ (4y+ T2+ (y—2)(y+3)
={x+(y+3}H3x+(y—2)}
=(x+y+3)3x+ y—2)

(4) 2x245xy+2y2—x+y—1
=2x24+(5y—1x+(2y%+y—1)
=2x2+(5y—Dx+(y+1)(2y—1)
={x+2y—1)}2x+(y+1))
=(x4+2y—1)2x+ y+1)

oyt o
4y+7

) 1 2y—1—4y-2
2>< y+1— y+1
5y—1




(p22) BH B

(1) x%+3xy+2y2—x—3y—2
=292+ (3x—3)y+(x2—x—2)
=2y*+(3x—3)y+(x+1)(x—2)
={y+x—2)H2y+(x+1)}
=(x+y—2)(x+2y+1)

(2) 2x%4+5xy+3y*+2x+y—4
=3y2+(5x+1)y+(2x2+2x—4)
=3y%+(5x+1)y+2x—1)(x+2)
={y+(x—D}8y+2x+2)}
=(x+y—1)2x+3y+4)

1) x—2—>2x—4 2)
2><x+1—’ x+1

3x—3

x—1 — 3x-3
3><2x+2)‘>2x+4
5x+1

(p23) B #HE 1
allDOWTEETLL
abla—b)+bc(b—c)+calc—a)
=(b——c)a’?—(b*—cYa+bc(b—c)
=(b—c)a’?—(b+c)b—c)a+bc(b—rc)
=b—cfa’—(b+c)a+bc)
=(b—cla—b)a—c)

=—(a—=b)(b—c)(c—a)
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1) (x4+2°=x°+3-x42-243.x-2242°
=x°4+6224+12x+8

2) (x—1P°=x%-3-x42.14+3-x2-12-1°
=x%—-3x243x—1

3) (3a+5b)°=(3a)’+3-(3a)?*-b+3-3a-b*+b°
=27a®+27a% +9ab’+b°

4) (x—2yP°=x°—3-22-2y4+3-x-(2y)>
=x°—6x2y+ 12492 —8y°
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(1) (x4+2)(x2=2x4+4)=(x+2)(x2—x-2+2%
=x342°=2%4+8

2) (x—3y)x%+3xy+9y?
=( 3y{x®+x-3y+(3y)%
—(3y)P=x3—-27y°
(p.25) B #E3

1) x34+27=2°+3=(x+3)(x2—x-3+3?
=(x+3)(x2—3x+9)
2 ¥-1=2—1=(x—1)(x2+x-14+1?
=(x—1)(x*+x+1)

(3) 125x°4+a’=(5x)°+a’=(5x+a){(5x)*—

/\A

5x-a+a?

=(5x+a)(25x2—5ax+a?
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=32 —4J/3

(2¢/5 +36)—(v/96 —+/45)
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=2./3/3 +2/3 x3,/6 —/6/3 —/6 x3./6

=2X34+6%x3/2 —3/2 —3x6=—124+15,/2
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2) —2<a+b6<0
@) 80x+100=2000



wEa42
1) a=—4, b=-20Dt X
2a < 2b, %<g —2a> —2b, _i2>_L2
2) a=—4, b=20DL X
%<%,%<g,—h>—%,{%>é%
#E43
1) a+4<bd+4
2) a—6<b—6
3) lla<1lb
4) —a>-—b
a _b
5) €<€
a b
(6) —§>—§
HwE44
(1) 52—9>1
5¢>1+9
5x>10
x>2
(2) 2x+3Z5
2x<5-3
2252
x=1
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